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1 HAUBRICHHILMEBEDEIS

4818%RE
REFE | ROFE | R7TFE
—RRATEU 31.3%| 42.9%| 33.3%
ERAEEM 100.0% - -
fItEdt L 100.0% - 0.0%
TAEE - - -
b 0.0% - -
SEBAES 0.0% 0.0% 0.0%
EHE 33.3%| 37.5%| 28.6%

2 RARRODRRBRAEICHDDILEDEIS

4818%R*E
R5FE | R6FE | R7FE
— AR TERER 50.0%| 35.3%| 39.5%
PREEEM 100.0% - -
BT 100.0% - 50.0%
TAREK 0.0% 0.0%| 25.0%
e - - -
SERARK 0.0% 0.0% 0.0%
EHE 43.1%| 30.6%| 32.7%

3 BRICHDILMEREDEIS

4818%RE
REFE | ROFE | R7TFE
1T 47.9%| 48.4%| 47.2%
SEBAES 2.3% 2.4% 2.4%
EHE 39.4%| 39.7%| 38.7%
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ABTHRAE

REFE | RO6FE | R7TFE

ERERERAR (B HERL) 17.2%| 14.3% 18.8%
ARRMIER 35.1%| 41.5%| 38.2%
RER 35.5%| 32.5%| 29.5%

REMELE 31.7%| 31.6%| 29.2%
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RAFE | REFE | ROFE

Bt 19.55% | 19.2%F| 19.2%

7% 19.3%F| 19.4%F| 19.8%

5 BLAIOEKIVEE TIIESE

RAFE | REFE | R6FE
St (1TEUED 0.0%| 100.0%| 80.0%
Bt CHELERD 0.0% 0.0%| 100.0%
B (£4K) 0.0%| 28.6%| 88.9%
7% (4T ERERR) 100.0%| 100.0%| 100.0%
1% CHFSEER) 100.0% - -
Mt (£1K) 100.0%| 100.0%| 100.0%
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6 BIEOEIHE LERREFDIGE - FIRGHE

RAFE | REFE | R6FE
EEESEES 70.0%| 71.4%| 88.9%
S 558 EEGER 10.0%| 42.9%| 33.3%
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RAFERE | REFE | R6FE
R LN CEI i 7.985fE | 5.28E | 5.18E
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R4E R5& R6F
IS EEK 10.08| 12.08| 12.7H




